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Quantitative Aptitude for RRB NTPC

Q1.
V225+05+125=7
(a) 141.5

(b) 126.5

(c) 140.5

(d) 135.5

Q2.

V289 _ /256
16 17

(a) 363

(b) 362

(c) 724

(d)1.3

+362=7

Q3.

7 12 1,
40 16 8

(a) 1.3

(b)12

(c)1.2

(d) None of these

Q4.7 x12=75% of 336
(a) 21

(b) 48 12 Month Subscription |
(c) 252

(d) None of these A

ENPTRPEER RAILWAYS

(a) 4 Useful for NTPC | Group D | ALP

92 TEST PACK

(c)2
(d) 3
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Q6. If 42 men can complete a work in 15 days, how many men are required to complete it in 21
days?

(a) 24

(b) 26

(c) 30

(d) None of these

Q7. At present M is 15 years older than K. After 5 years, K will be 10 years old. What is M’s present
age?

(a) 20 yrs.

(b) 25 yrs.

(c) 15 yrs.

(d) None of these

Q8. To fill a tank, taps a, b and c takes 20 mins., 15 mins. And 12 mins. Respectively. How much
time will it take to fill the tank, if all the 3 taps are opened together?

(a) 10 mins.

(b) 5 mins.

(c) 8 mins.

(d) 6 mins.

Q9. A person borrows Rs. 75/- at the rate of 5% p.a. simple interest. What is the amount to be
returned after 6 years?

(a) Rs.97.50

(b) Rs. 95.00

(c) Rs.102.50

(d) Rs. 109.00

Q10. Three spherical balls of radii 6 cm, 8 cm, and R cm. are melted into a sphere of radius 12 cm.
What is the value of R?

(a) 6 cm

(b) 8 cm

(c)10cm

(d)12 cm

Directions (11-15): What will replace the question-mark (?) in each of the following questions?

Q11.

44X6+B8X6+3
66 +3 %2 B

(a) 6.111

(b) 8.324

(c) 6.432

(d) 6.324

?
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Q12.

73 -42482=2
= 5 5

(a) 17

1
© 12;
2
() 13E

Q13.
§x025x140:?+5
(a)o

(b) 245

(c)5
(d) 100

Q15.
0.538 X 0.538 — 0462 X 0.462
1.924

?

(@1

(b) 10

(c) 101

(d) None of these

Q16.

Ifv169 =13 and v196 = 14,
then what will be the value of V1156 =7

(a) 33
(b) 45
(c) 34
(d) 55
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Q17. How many numbers are there in between 50 and 100 which are exactly divisible by 7 ?
(a) 14

(b) 7

(c) 10

(d)19

Q18. A 100 metre long train crosses a man, coming from its opposite direction at the speed of 5
km./hr. in 6 seconds. What is the speed of train?

(a) 60 km./hr.

(b) 55 km./hr.

(c) 65 km./hr.

(d) 75 km. /hr.

Q19. 6 years ago, the age of Sushil was thrice the age of Snehal. After 6 years, the age of Sushil will
be equal to 5/3 of the age of Snehal. What is the present age of Snehal?

(a) 12 years

(b) 15 years

(c) 22 years

(d) 24 years

Q20. A obtains 30% more marks than that of B. What less percent of marks does B get from A?
2

@) 1 35

(b)

(c)

23L
13

232
3 .

202

(d) 13

Q21.

51 x 4208 VSRS 7
e a8 5 4

5
1

(@ 2
1

11-=
(b) s
3 6 Months Subscription
10
() 5

(d) None of these RRB NTPC

@ KA MAHA PACK
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Vidd 26 Test Series, Live Classes,
(a) 49 Video Course, eBooks
(b) 196

(c) 441 one

(d) 1296 Bilingual
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Q23.
9x15+324—56—§=?

23
@ 3%
(b)
(c)

(d)

3113
4

1472
4

148*
4

Q24.

2ix4>—4- 46>
2 4 (=] 4

-7
1 1 2 .

4+ =
33 4Zx53

1
@ i

21

(b) “160
13

(c) 160
(d) None of these

Q25. Between 100 and 300, how many numbers are such which are totally divisible by 11?
(a) 17
(b) 18
(c) 19
(d) 20

Q26. A map has been drawn to the scale 5 mm per 15 km. Two places have been shown in the map
at a distance of 7.3 mm. How far are they from each other?

(a) 21.9 km

(b) 9.21 km

(c) 22.3 km

(d) 22.5 km

Q27. The length of the longest pole that can be kept inside a room of dimension 12m x 34/3m x 5m
is

(a) 10m

(b) 11m

(c)1Z2m

(d) 14m
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Q28. The difference between two numbers is 8 and their ratio

A adda
is 1: 5. Which of the following is the bigger number? Publications
(a)2 “THE CRACKER"
(b)6 GENERAL AWARENESS
(c) 10 ABO0 TN R e
(d) Can’t say Useful for RRB JE, RRB NTPC,

SSC CGL & Other Exams
eBOOK

Q29. Average marks in Maths in a class of 40 students is 45.
Average of all the 30 boys is 50. Then the average marks

obtained by the girls is

() 30 s e, S0
(b) 35 e B
(C) 25 Economics & Miscallanaous

(d) Can’t say

Q30. A trader bought 30 kgs of rice at Rs. 10.50 per kg. and mixed it with 20 kgs of rice bought at
Rs. 12.00 per kg. He sold the mixture at Rs. 11.50 per kg. Then he would

(a) Loss Rs. 20/-

(b) Neither loss nor gain

(c) Gain Rs. 20/-

(d) Can’t say
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